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7 X VHOASBRRISWET 2%

BB

DYORB VBRI T 5 LBTUBRKRE KDY ThilgWdBPo7 X VHOL
REMCLSDOTH 3. REOHE « B85 - RRMEES I SHH S h 58158
BRIk T IEEPOAFRBYME ATV S, ZhS>OBRMIZ & 3L OHHE
EPIPOBTHRRE EHBRFHUTREREHIE T3, UhUth s BEEYH
D7 IVEOABROBUDBHUDL D > TRV, YETURKRNIRTIVTH
% N,N-dimethylaniline HOABRER DLW T T3 & U, £T#iayag
L {FFTET % p-benzoquinone DIABZIK T S Sp-benzoquinone diimine & D
RIBZOWTRIFHU k. FOHER p-benzoguinone diimine HDP T N,N -bis-
ethoxycarbonyl-p-benzoquinone diimine (1) #% N,N-dimethylaniline & (2)
ERENCRTEIENR Moz BB, ARIEBIUBREVTHIZRTD.
AURBBR2EREUTHNGE (3) 2ENRTCEHEAZIEND Dok,

1. EESE 10N EYE # BEE 0.05-0.1 mol/1) 22D 2{ERD20FE
£T 300WREKERAT CTHEBE T3 &4tk (3) BB . 20EBBELEL R
BEDIDOPRLFELHILR1DLIWERS,

2. BRIG LiCEREBMC1 0BEKET 3 &, (Thik (3) BEMUL,
UHUL. BIBCHBOBENAZCERLVCOBRIGUEULSREIh R, BA
D2RHAVEIZFAOIDONRIIR1DEVTH 3. RO TEROMEDRELFANRSS
2. MEOKELEEL1E20 &K (Cels,CDsCN) ONMREH#IEL. Fhii&3 D
AFLoTE b N-CHz-N ONMRY T FI (8= 5. 2, s) OEPIBEORMZE
feds. MIEELRD. ThRBEECHLTOY P UT. ZodROTE. B
BHEEr RO, ([1] = 0.08, [2] = 0.4 mol/1: 30° C) .

) BBIUBRORE. BLBEOBEREAT. 12 cD RISOLEERR
HheZBR-2&3Rok,

BEDZIR © PhCOzH > AcOH > Ac20 > (CH2C0)20 > (CH2C0)2NH

A DOZIHR ;. CDsCN > CeDs.

i) 2OBBEOPE, (PhC02H/CsDs) HTD. 1&2a—kD RISOHEE
ERDREZSE. R-B0LDRRoR, EER. ETFHSHESIGEEOHEII
A&EL, ETESIMHERHEDIZAIE MW BN ok, '

3. YD, BAUZORIEBN-AFLETOABIY. N-TFLETI
BZoRWL LIS, ZORBOBELLHRVTEREU 2,
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Tablse 1. (V,M/[aoldlllmln.t roaotlion of l wlth _2_o_n‘t 30°

acld
i PhCO,H  AcOH Ao,0 (CH,C0),0 (CH,C0) NH
CeDg 0.8 0.1 0.1 — _
CD4CN 3 0.2 0.3 0.03 0.0003

Table 2. (v,n{/(nold]l/mln.: reacn.of 1
vIth 2 In CgDg at 30°C: acld =PhCO,H

— Ms N@X —_—
2 L] L]
X OM Cl Hs H CHO
6 0.8 0.6 0.2 0.002
NNa Nl‘la NMe NHn NHa NHo
Me
Clawe Clawe @m O n O
OHa
2f ZE 2h 2l 2] 2k
g 0.2 I 0.8 0.5 0.01
H+ ’ + 2 r ¢ + !
1_ —— Ar—N—=Y ——> (Ar—N—Y _2_‘1 m—
{4)

D + -
(A —N—Y Ar*=N(Me)—CHp:) + 4 ——> 3 + 4



